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0.4, [e)
if(i.getthlckneﬁﬁ(]:!(
list2.add{new Drawline (gagahsr()+ m i.getsy () gky[0] i.getext]E{OI i.getey()Fky[0]f temp,i.gectthickness (), "shadow"));
this.addlist (i.getsx () 1. gPEET Ny (0] i.oeten BER O1] L.qecev () k:y{O]I coTer.gray, i.getthickness(),"line”,true):
i
else if(i.getthickness() =

Bl
1istZ.add (new DrawLine (Togetsx | i.etsy()[ky{l] i % () igetev() temp,i.getthickness (), "shadaw"});
this.addlist (i.getax()fkx[1] §i.getsy kv{l] ji.getex Fkx[1]fi.getey () fEVI1 Tell, .getthickness () ,"1line", true);

ES o1 2.

I 8
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else if(i.getthickness|() == i
listZ.add (new Drawline ccax | fbkxi2] fi.oecavi)fryi2lls oo x(}lkxi2] i.gecev() 1} temp, i.gecthickness (), "shadaow") )} :
this.addlist (i.getsx () fkx[2]10i.cetsy () kw2 fi.cetex () fkx2]1fi.cetev () ky[Z!, tempy  l.getthickness(},"line", true);

¥

else if(i.getthickness(} = i

listZ.add (new DrawLine ecax() Poetay) temp,i.getthickness (), "shadow"));
this,addlist (i.getsx() i.getsy()fky[31fi.0e

.getex()pEx[3] i.etey(]-
i.getey () fky[3] temp, 1.getthickness(},"line",true);
i

1istZ?.add (new DrawLine (1.getsx(} i.getay() i.gecex () gex(41fdi. EtEy(}mtemp,i-getthicbesstJy"shc‘-dGW"H:
this.addlistti.getsx(]i.gel:sy(} i.getex () i.getey :kym]l temp, 1i.getthickness(),"line",true);

}
else if(i.getthickness(} =

int ftempplusx kx[i.getthickness 5
intftempplusy ky[i.getthickness() /5]

1ist?.add (new Drawline {i.getsx()+ftempplus
this.addlist(i.getsx()+ getsy()
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SpecialEffect.java oA &L 7
1} Zo] 243510 complexity?} Atopx]| =2 5}t

case!
1L (SX <= ex && sy <= ey} {//1
list.add (new DrawLine (s3+if] s ¢ 1 =3
1l s§+1fl e

list.add (new DrawLine (s

}
else if (sx>=ex && sy >= ey} {//2
DrawLine (sx+1,8y-1,ex+l,ey-1,colaor,1));

list.add(new

list.add (new DrawlLine (sx-1,sy+l,ex-1,ey+l,color,1}):
&& sy >=ey) {//3
DrawLine (sx-1,8y-1,ex-1,ey-1,color,1));

DrawLine (sx+1,s3y+l,ex+l,ey+l,coloxr,1));

}
else if(sx <= ex
li=st.add (new
list.add (new

}

else if (sx>=ex && =5y <= ey) {/
list.add(new DrawLine (sx-1,sy-1,ex-1,ey-1,color,1}):

add (new DrawLine (sx+1,sy+l,ex+l,ey+l,coloxr, 1))

list.

olor,2)):

ex && sy <= ey)}i{//1
add (new DrawLine (s=:g3 8= e ef-3,
23 8= e eft+3, koloxr,2));

add {(new DrawLine (s

else if (sx>=ex && =y >= ey) {//2
list.add (new DrawLine (sx+3,sy-3,ex+3,ey-3,coloxr,2});
list.add (new DrawLine (s5x-3,sy+3,ex-3,ey+3,coloxr,2));

——

idethick-11; |
_—re

Fplusamountl color, dividethick) )

olusamountl color, dividethick) )

spbound [div:
— o= 3 -
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Iint plusamount
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+plusamount|
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if(8X <= ex && 3y <= ey) {/
.add (new DrawLine (s

list
list.add (new DrawLine (s
list.add (new DrawLine (sx+plusamount, sy-plusamount, ex+plusamount, ey-plusamount, color,dividethick)};

¥
else if(sx>=ex && =y >= ey) {

)
R
e

1o

li=st.add (new DrawLine (sx-plusamount, sy+plusamount,ex-plusamount,ey+plusamount, color,dividethick) )

e
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if({state.eqguals ("pencil™)) { £/ 22
drawtool.addlist(sx, =y, &x, &y, State):
getxy{ex,ey);

SX = EX;
sy = ey;
else if(=tcate.squals ("erasexr")) { P e i B

drawtool.addli=stc (sx, =y, ex, ey, sState};
getxy (ex,ey):

SR = eX;
ay-=Lay;
else if(state.equals("brush")) {

drawtool .addlist (sx, 3y, ex, ey, Sscate):
getyy (ex,ev);

X = ex;
SY T e¥;
if(state.equals ("pencil®™) || state.equals("erasexr") || state.edquals ("brush™)) { =2

drawtool.addli=stc (sx, =y, ex, ey, sState};
getxy(ex,ey):

X = BH;

ay-=ray;

Screen.java A= OHIVIAI R if-else2 AT 0] Qe £33 $9 2du o] &%
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1.2. &

1.2.1. Major Violationso] T3t &%
- DrawTool
Line Violated rule Description
o . Variable 'color' must be private and
41 Visibility Modifier

have accessor methods.

Relevant code

Solution

Modified code

Color color

private0. 2 2%

private Color color

Line

Violated rule

Description

45

Unused Private Field

Avoid unused private fields such as
'state’

Relevant code

Solution

Modified code

private String

AHESHA] grobA] AtA

state
Line Violated rule Description
o . Variable 'frame 1' must be private and
48 Visibility Modifier

have accessor method.

Relevant code

Solution

Modified code

final JFrame

private0 2 27X

private final JFrame framel

framel
Line Violated rule Description
o . Variable 'list' must be private and
50 Visibility Modifier

have accessor methods.

Relevant code

Solution

Modified code

public
ArrayList<Draw
Shape> list

private0 2 274

private ArrayList<DrawShape> list

Line Violated rule Description
) Avoid using implementation types like
50 Loose coupling , o ) i
Array List' use the interface instead
Relevant code Solution Modified code
public
ArrayList<Draw not accept

Shape> list

Line Violated rule Description
o ) Variable 'list2' must be private and
51 Visibility Modifer
have ccessor methods.
Relevant code Solution Modified code
public
ArrayList<Draw private0. 2 74 private ArrayList<DrawShape> list2

Shape> list2

Line

|

Violated rule \

Description




51

Loose coupling

Aviod using implementation types like
'ArrayList' use the interface instead

Shape> list2

Relevant code Solution Modified code
public
ArrayList<Draw not accept

Line

Violated rule

Description

54

Visibility Modifier

Variable 'count' must be private and

have accessor methods.

Relevant code Solution Modified code
int count private0. 2 74 private int count
Line Violated rule Description
) ) The String literal "normal" appears 5
Avoid Duplicate ) ] o .
57 . times in this file the first occurrence
Literals ) )
is on line 57
Relevant code Solution Modified code

bruﬂghshaple' = %EH% L%E}LHE‘
normal FAtEolB 2 not accept
Line Violated rule Description
) ) The String literal "rectangle" appears 5
57 Avoid Duplicate

times in this file the first occurrence

Literals ) )
is on line 58
Relevant code Solution Modified code
fi%ureshape” = %EH% L%E}LHE‘
rectangle S2AFFo]B & not accept
Line Violated rule Description
. ) Cyclomatic Complexity is 19(max
90 Cyclomatic Complexity

allowed is 10)

Relevant code

Solution

Modified code

public void
tempaddlist(dou
ble sx, double
sy, double ex,
double
ey,String state)

Fzstrhal H®HEsH] not
accept

Line Violated rule Description
) ) The String literal "circle" appears 4
Avoid Duplicate . . o . .
105 . times in his file; the first occurrence is
Literals )
on line 105
Relevant code Solution Modified code

JEIE e

=AtEo]8 2 not accept

Line \

Violated rule

\ Description




Cyclomatic Complexity is 46(max

allowed is 10)

120

Cyclomatic Complexity

Solution

Modified code

Relevant code

public void
spBrush2Cal(do

ZB2L]= code

ublsey!z}gl(}&%ble tA5ts Oq;l;efactoring
ex,double ey, int =
linethickness)
Line Violated rule Description
The method spBrush2Cal() has an
120 Ncss Method Count .
NCSS line count of 87
Relevant code Solution Modified code
public void
spBrush2Cal(do
uble sx,double 3 =J1ah
sy,double A e
ex,double ey,int
linethickness)
Line Violated rule Description
) ) Cyclomatic Complexity is 46(max
219 Cyclomatic Complexity )
allowed is 10)
Relevant code Solution Modified code
public void
spBrushl1Cal(do ZEBEX code
ublsey’sdélcllglueble 7FA35ts Oi;iefactoring
ex,double ey, int o
linethickness)
Line Violated rule Description
the method spBrushlCal() has an NCSS
219 Ncss Method Count )
line count of 89
Relevant code Solution Modified code
public void
spBrush1Cal(do
uble sx,double =~ A7}ab
sy,double L
ex,double ey,int
linethickness)
Line Violated rule Description
) Avoid unused local variables such as
220 Unused local variable Do L
dividethick
Relevant code Solution Modified code
i . . refactoringsto|
int dividethick AFa s Hole
Line Violated rule Description
396 Avoid commented-out This block of commented-out lines of
lines of code code should be removed
Relevant code Solution Modified code
A




Line

Violated rule

Description

317

Cyclomatic Complexity

Cyclomatic Complexity is 27(max
allowed is 10)

Relevant code

Solution

Modified code

public void
addlist(double
sx,double
sy,double
ex,double
ey,String state)

Gz stthal HHsHA not
accept

Line

Violated rule

Description

437

Local Final Variable

Name

Name 'scrollBar_1' must match pattern
‘"a-z]la-zA-Z0-9]*$'

Relevant code

Solution

Modified code

scrollBar_1 Ha 0] & 2F scrollBarl
Line Violated rule Description
453 Local Final Variable Name 'scrollBar_2' must match pattern
Name ‘"la-z]la-zA-Z0-9]*$'
Relevant code Solution Modified code

scrollBar_2 Ha 0] 8 22X scrollBar?2
Line Violated rule Description
) ) The String literal "deprecation" appears
Avoid Duplicate : . . .
474 ) 19 times in this file: the first
Literals . .
occurrence is on line 474
Relevant code Solution Modified code

@SuppressWar
nings("deprecati
Onll)

interface implementsA|
Ats +A%E code® not

accept
Line Violated rule Description
Anonymous inner class length 42
484 Anon Inner Length

lines(max allowed is 20)

Relevant code

Solution

Modified code

frame.addWind

owListener(new . A =
WindowListener line + &9
()
Line Violated rule Description
) Name 'btnNewButton_1' must match
558 Local Variable Name

pattern '“a-z]la-zA-Z0-9]*$'

Relevant code

Solution

Modified code

btnNewButton_1

N = N
Ha o]l o4

btnNewButtonl

_10_




Line

Violated rule

Description

584

Anon Inner Length

Anonymos inner class length is 42
lines(max allowed is 20)

Relevant code

Solution

Modified code

frame.addWind

owListener(new A =ol
WindowListener line & &%
Line Violated rule Description
i i . Literal Strings should be compared
647 String Literal Equality

using equals(), not '==

Relevant code

Solution

Modified code

if(figureshape
== "rectangle")

equals() & %

if(figureshape.equals('rectangle"))

Line

Violated rule

Description

656

Local Variable Name

Name 'btnNewButton_1' must match
pattern '*a-z]la-zA-Z0-9]*$'

Relevant code Solution Modified code
btnNewButton_1 Ho 0] & A btnNewButtonl
Line Violated rule Description
652 if Else Stmts Must Use | Avoid using if.. else statements without
Braces curly braces
Relevant code Solution Modified code
else
btnNewButton.s . elsef
etlcon(new &7} btnNewButton.setlcon(new

Imagelcon("res\
\rectan.jpg"));

Imagelcon("res\\rectan.jpg")):}

Line Violated rule Description
) ) ) Literal Strings should be compared
667 String Literal Equality ) Lo
using equal(), not '==
Relevant code Solution Modified code
lf(ﬁg}érh?csl}é%pe B equals()2 HHE if(figureShape.equals('circle"))
Line Violated rule Description
671 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
btnNewButton_1 . elsef
.setlcon(new &7} 671 btnNewButton_1.setlcon(new

Imagelcon("res\
\circle.jpg"));

Imagelcon("res\\circle.jpg")):}

Line

Violated rule

Description

674

Anon Inner Length

Anonymouse inner class length is 42

lines (max allowed is 20)

Relevant code

Solution

Modified code

_‘l‘l_




frame.addWind

owListener(new . A =0]
WindowListener line & &%
0
Line Violated rule Description
750 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(lineThickness
btnNewButton.s . if(lineThickness == 5}
etlcon(new {7t 752 btnNewButton.setlcon(new

Imagelcon("res\
\Line_?)jsel.png

Imagelcon("res\\Line_5_sel.png"));}

Line Violated rule Description
754 If Else Stmt Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
btnNewButton.s . else{
etlcon(new =7t btnNewButton.setlcon(new

Imagelcon("res\
\Line_5.png")):

Imagelcon("res\\Line_5.png"));}

Line

Violated rule

Description

758

Local Variable Name

Name 'btnNewButton_1' must match
pattern '*a-z]la-zA-Z0-9]*$'

Relevant code

Solution

Modified code

btnNewButton_1 Ha 0] E A btnNewButton1

Line Violated rule Description

770 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces

Relevant code Solution Modified code
if(lineThickness

== O
btnNewButton_1 i if(lineThickness == 10){

.setlcon(new &7} btnNewButton_1.setlcon(new

Imagelcon("res\
\Line_ 1”O_sel.pn
g"):

Imagelcon("res\\Line_10_sel.png")):}

Line Violated rule Description
770 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
lsef
btnNewButton_1 e
setlcon(new HES)! btnNewButton_1.setlcon(new

Imagelcon("res\
\Line_10.png"));

Imagelcon("res\\Line_10.png"));}

_‘|2_




Line

Violated rule

Description

776

Local Variable Name

Name 'btnNewButton_2' must match
pattern '“a-z]la-zA-Z0-9]x$'.

Relevant code Solution Modified code
btnNewButton_2 Ha 0] 2 2H btnNewButton2

Line Violated rule Description

783 If Else Stmts Must Use Avoid usin if..else statements without

Braces curly braces
Relevant code Solution Modified code
if(lineThickness
btnNewButton_2 i if(lineThickness == 1)
.setlcon(new &7} btnNewButton_2.setlcon(new

Imagelcon("res\
\Line_ })5 sel.png

Imagelcon("res\\Line_1_sel.png")):}

Line Violated rule Description
790 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
btnNewButton_2 . else{
.setlcon(new &7} btnNewButton_2.setlcon(new

Imagelcon('res\
\Line_1.png");

Imagelcon("res\\Line_1.png"));}

Line

Violated rule

Description

794

Local Variable Nmae

Name 'btnNewButton_3' must match
pattern '*a-z]la-zA-Z0-9]*$'

Relevant code

Solution

Modified code

btnNewButton_3 HL o] & A btnNewButton3

Line Violated rule Description

806 If Else Stmts Must Use | Avoid using if..else statements without

Braces curly braces

Relevant code Solution Modified code
if(lineThickness

== 15)
btnNewButton_3 i if(lineThickness == 15){

.setlcon(new 3371 btnNewButton_3.setlcon(new

Imagelcon('res\
\Line_ 1”5_sel.pn
g")):

Imagelcon("res\\Line_15_sel.png"));}

Line Violated rule Description
803 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else HEE elsef{

_13_




btnNewButton_3
.setlcon(new

Imagelcon("res\

\Line_15.png"));

btnNewButton_3.setlcon(new
Imagelcon("res\\Line_15.png"));}

Line

Violated rule

Description

812

Local Variable Name

Name 'btnNewButton_4' must match
pattern '“[a-z]la-zA-Z0-9]*$'

Relevant code

Solution

Modified code

btnNewButton_4 Ha 0] 8 42X btnNewButton4
Line Violated rule Description
824 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(lineThickness
== O
btnNewButton_4 i if(lineThickness == 20)}{
.setlcon(new =7t btnNewButton_4.setlcon(new

Imagelcon("res\
\'Irine_ZO_sel.pn
g"):

Imagelcon("res\\Line_20_sel.png")):}

Line Violated rule Description
826 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
btnNewButton_4 i elsef
.setlcon(new {357} btnNewButton_4.setlcon(new

Imagelcon("res\
\Line_20.png"));

Imagelcon("res\\Line_20.png")):}

Line

Violated rule

Description

830

Anon Inner Length

Anonymouse inner class length is

42lines(max allowed is 20)

Relevant code

Solution

Modified code

framel0.addWin

dowListener(ne
w line &~ &%
WindowListener
0)
Line Violated rule Description
883 Avoid Print Stack Avoid printStackTrace(); use a logger
Trace call instead
Relevant code Solution Modified code
e.printStackTra At +¥€ code® not
ce() accept
Line Violated rule Description
887 Avoid commented-out This block of comented-out lines of

lines of code

code should be removed

Relevant code

Solution

Modified code

//y =y -3

AR
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Line

Violated rule

Description

889 Hidden Field 'red' hides a field
Relevant code Solution Modified code
int red = F
(k>>16) & oxff: A
Line Violated rule Description
890 Hidden Field '‘green' hides a field
Relevant code Solution Modified code
int green = AHA|

(k>>8) & oxff;

Line Violated rule Description
891 Hidden Field '‘blue’ hides a field
Relevant code Solution Modified code
int blue = (k) & }
oxif; A
Line Violated rule Description
o . Variable 'x' must be private and have
897 Visibility Modifier
accessor methods
Relevant code Solution Modified code
double x private0 2 274 private double x
Line Violated rule Description
o . Variable 'y' must be private and have
898 Visibility Modifier
accessor methods
Relevant code Solution Modified code
double y privateo 2 7% private double y
Line Violated rule Description
) ) Cyclomatic complexity is 14(max
910 Cyclomatic Complexity )
allowed is 10).
Relevant code Solution Modified code
public
Bufferedlmage
filldecalcolor(int
panelx, int =23 Q3to] AHA|
panely,int
width, int
height,Color c)
Line Violated rule Description
911 Hidden Field 'list' hides a field

Relevant code

Solution

Modified code

325 t= method

ArrayList<temp
> list 2 asto] A
Line Violated rule Description
917 Avoid Print Stack Avoid printStackTrace(); use a logger
Trace call instead
Relevant code Solution Modified code

e.printStackTra
ce()

5= method
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2R astol AA

Line

Violated rule

Description

924

Hidden Field

‘color' hides a field

Relevant code

Solution

Modified code

s 5t= method

int color
L R51o] AMA|
Line Violated rule Description
. Avoid unused local variables such as
927 Unused local variable

‘flag'

Relevant code

Solution

Modified code

s o= method

int fla
® 1 @sto] AR
Line Violated rule Description
958 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code

s ot= method

else break:
=T 5o AA|
Line Violated rule Description
964 Avoid commened-out This block of commented-out lines of

lines of code

code shoud be removed

Relevant code Solution Modified code
//public
Bufferedlmage
decallmage(int
start_x, int AFA|
start_y, int
width, int
height){
Line Violated rule Description
971 Avoid Print Stack Avoid printStackTrace(); use a logger
Trace call instead
Relevant code Solution Modified code
e.printStackTra At& +¥€ code® not
ce() accept
Line Violated rule Description
981 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(outlmage.getR
GB((wic%th/Z) -
1, j) <=
if(outlmage.getRGB((width/2) - i, j
%&%ﬁ?ﬁ?g’;e?? e outlmage.getRGB((width/2) + i, j)

)
outlmage.setRG
B((width/2) + i

J,

j) <=
) {
outlmage.setRGB((width/2) + i, j,

outlmage.getRGB((width/2) - i, J))}
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outlmage.getRG
B((widt})l)/Z) -1,
i)

Line Violated rule Description
983 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces

Relevant code Solution Modified code

else
outlmage.setRG
B((width/2) - i, i else{

j {7} outlmage.setRGB((width/2) - i, j,

J,
outlmage.getRG
B((Wid’[.l’)l)/Z) + 1,

i)

outlmage.getRGB((width/2) + i, j)):}

Line

Violated rule

Description

984

Avoid commented-out

lines of code

This block of commented-out lines of

code should be removed

Relevant code Solution Modified code
//if(outlmage.g

etRGB((width/Z)

g A

outlmage.getRG
B((width/2) + i,

i)

Line Violated rule Description
) ) Cyclomatic Complexity is 13(max
998 Cyclomatic Complexity )
allowed is 10).
Relevant code Solution Modified code
public
Bufferedlr(nage
fillColor(int _ . I
panelx, int F=stotal FEsH] not

panely,int x,
int y,int width,
int height,Color

c)

accept

Line

Violated rule

Description

999

Hidden Field

'list'hides a field

Relevant code

Solution

Modified code

method UjH-of| At

ArrayList<temp

> list AHE5HE 2 not accept

Line Violated rule Description

1007 Avoid Print Stack Avoid printStackTace(); use a logger

Trace call instead

Relevant code Solution Modified code
e.printStackTra A& +d€ code® not

ce() accept

Line Violated rule Description

1012 Hidden Field ‘color' hides a field

Relevant code

Solution

Modified code
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method U&-of| A gt

int color
AF8-8tE. 2 not accept
Line Violated rule Description
) Avoid unused local variables such as
1018 Unused local variables ‘ ‘
flag
Relevant code Solution Modified code
int flag A
Line Violated rule Description
1049 If Else Stmts Must Use | Avoid using if..els statements without
Braces curly braces
Relevant code Solution Modified code
else break; 137} else { break; }
Line Violated rule Description
. Avoid using implementation types like
1053 Loose coupling , e i )
ArrayList’; use the interface instead
Relevant code Solution Modified code
public
ArrayList<Draw not accept

Shape> getlist()

Line Violated rule Description
. Avoid using implementation types like
1056 Loose coupling , L ) ]
ArraylList’; use the interface instead
Relevant code Solution Modified code
pub(lic void
setlist(ArrayList
<DrawShape> not accept
list)
Line Violated rule Description
. Avoid using implementation types like
1059 Loose coupling

'‘ArrayList'; use the interface instead

Relevant code Solution Modified code
publi(c void
setlist2(ArrayLis
t<DrawShape> not accept
list)
- Screen
Line Violated rule Description
o o Variable 'g' must be private and have
44 Visibility Modifier

accessor methods.

Relevant code

Solution

Modified code

Graphics g AHESHA] 940t AtA|
Line Violated rule Description
45 Visibility Modifier Variable 'mycursor' must be private
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and have accessor methods.

Relevant code Solution Modified code
Cursor ) )
privateo. 2 74 private Cursor mycursor
mycursor
Line Violated rule Description
o . Variable 'state' must be private and
46 Visibility Modifier

have accessor methods.

Relevant code

Solution

Modified code

public String

privateo. 2 274

private String state

state
Line Violated rule Description
] ) The String literal "pencil" appears 7
Avoid Duplicate . . o .
46 ) times in this file: the first occurrence
Literals ) ]
is on line 46
Relevant code Solution Modified code

public String

JEiE HEt=

state =
" =AtEo]lE 2 not accept
pencil’;
Line Violated rule Description
Name 'X' must match pattern
47 Member name

'‘“la-zlla-zA-Z0-9]*$".

Relevant code Solution Modified code
[1X Ha o]E 2&F [[xCoordinate
Line Violated rule Description
o . Variable 'X' must be private and have
47 Visibility Modifier

accessor methods.

Relevant code

Solution

Modified code

public double

private2 $£7%

private double [|[xCoordinate

[1X
Line Violated rule Description
47 Naming - Suspicious The field name indicates a constant

constant field name

but its modifiers do not

Relevant code

Solution

Modified code

[1X Ha o]E 21 [[xCoordinate
Line Violated rule Description

Name 'Y' must match pattern
48 Member name

'‘"a-z]la-zA-Z0-9]*$".

Relevant code Solution Modified code
(Y Ha o]l2 A [J[yCoordinate
Line Violated rule Description
o . Variable 'Y' must be private and have
48 Visibility Modifier

accessor methods.

Relevant code

Solution

Modified code

public double

privateo 2 &

private double []JyCoordinate
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| (Y

Line

Violated rule

Description

48

Naming - Suspicious

constant field name

The field name indicates a constant

but its modifiers do not

Relevant code Solution Modified code
(Y HAa o] 4K [lyCoordinate
Line Violated rule Description
Name 'showcolor_panel' must match
55 Member name

pattern '*a-z]la-zA-Z0-9]*$'.

Relevant code Solution Modified code
showcolor_pa
He 0] 24 showColorPanel
nel
Line Violated rule Description
o . Variable 'showcolor_panel' must be
55 Visibility Modifier

private and have accessor methods.

Relevant code

Solution

Modified code

Panel
showcolor_pa

privateZ X

private Panel showColorPanel

nel
Line Violated rule Description
. Avoid using implementation types like
56 Loose coupling ‘ e ) )
ArrayList’; use the interface instead
Relevant code Solution Modified code
private
ArrayList<Dra not accept
wShape> list
Line Violated rule Description
o . Variable 'txtthick' must be private and
57 Visibility Modifier

have accessor methods.

Relevant code Solution Modified code
final
JTextPane . i i i
) privateZ X private final JTextPane txtthick
txtthick] TextP
ane();
Line Violated rule Description
o . Variable 'frame' must be private and
58 Visibility Modifier

have accessor methods.

Relevant code

Solution

Modified code

public JFrame

privateZ X

private JFrame frame

frame
Line Violated rule Description
Name 'Image3' must match pattern
59 Member name

'‘“la-zlla-zA-Z0-9]*$".
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Relevant code

Solution

Modified code

Bufferedimage AFGBFA] oFobA] AR
Image3
Line Violated rule Description
o . Variable 'Image3' must be private and
59 Visibility Modifier

have accessor methods.

Relevant code Solution Modified code
Bufferedimage AFGBFA] oFobA] AR
Image3
Line Violated rule Description
o . Variable 'isfillFlag' must be private and
60 Visibility Modifier

have accessor methods.

Relevant code

Solution

Modified code

int isfillFlag

AFESHA] 9FobA AR

Line

Violated rule

Description

61

Visibility Modifier

Variable 'panel' must be private and
have accessor methods.

Relevant code

Solution

Modified code

public JPanel

private2 $£7%

private JPanel panel

panel
Line Violated rule Description
o . Variable 'c¢' must be private and have
62 Visibility Modifier

accessor methods.

Relevant code

Solution

Modified code

Container ¢

private2 7%

private Container c

Line

Violated rule

Description

68

Constructor Calls
Overridable Method

Overridable method 'resetxy' called

during object construction

Relevant code

Solution

Modified code

public void

final2 $£7%

public final void resetxy()

resetxy()
Line Violated rule Description
The method initialize() has an NCSS
74 Ncss Method Count

line count of 109

Relevant code

Solution

Modified code

private void

Ulgolld HES

7] a8t ge Jlse ot

itiali + codeg &= AME-SHA
initialize() onz x=Ms wx oo}
Al not accept
Line Violated rule Description
119 Avoid Duplicate The String literal "deprecation" appears

Literals

4 times in this file; the first
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occurrence is on line 119

Relevant code

Solution

Modified code

@SuppressWa | interface implementsA|
rnings("deprec | AFs- L E code® not
ation") accept
Line Violated rule Description
] Name 'fill_button' must match pattern
171 Local Variable Name

'‘"a-z]la-zA-Z0-9]*$".

Relevant code

Solution

Modified code

fill_button H o] & L4 fillColor
Line Violated rule Description
) Name 'showthick_panel' must match
281 Local Variable Name

pattern '“[a-z][a-zA-Z0-9]*$".

Relevant code Solution Modified code
showthick_pa
P Ha 0|8 2F showThickness
nel
Line Violated rule Description
) Name 'open_file' must match pattern
298 Local Variable Name

'‘"la-z]la-zA-Z0-9]*$".

Relevant code

Solution

Modified code

open_file Ha o]l& 2F openFile
Line Violated rule Description
301 Avoid commented-out This block of commented-out lines of

lines of code

code should be removed.

Relevant code Solution Modified code
// init():; AMA|
Line Violated rule Description
] Name 'save_file' must match pattern
312 Local Variable Name

'‘“la-zlla-zA-Z0-9]*$".

Relevant code Solution Modified code
save_file Ha 0]E 2F saveFile
Line Violated rule Description
] ] The String literal "eraser" appears 4
Avoid Duplicate ) ) L .
365 i times in this file; the first occurrence
Literals ) )
is on line 365
Relevant code Solution Modified code

state.equals("e

JEE YEt=

raser") FEAtgolB 2 not accept
Line Violated rule Description
) ) The String literal "brush" appears 5
Avoid Duplicate ) ) o .
371 . times in this file; the first occurrence
Literals . .
is on line 371
Relevant code Solution Modified code

state.equals("b

Jels e
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rush") | 2x}9olB 2 not accept |
Line Violated rule Description
) ) The String literal "shape" appears 4
Avoid Duplicate . . o .
377 ) times in this file; the first occurrence
Literals . .
is on line 377
Relevant code Solution Modified code

state.equals("s

JEE Uetde

hape") FEAtgolB 2 not accept
Line Violated rule Description
396 Avoid commented-out This block of commented-out lines of

lines of code

code should be removed.

Relevant code Solution Modified code
//drawtool.set

Bounds(0,60,fr

ame.getWidth( |

)-16,frame.get
Height()-98);

Line

Violated rule

Description

433

Avoid commented-out

lines of code

This block of commented-out lines of

code should be removed.

Relevant code

Solution

Modified code

//drawtool.set
pixelColor(get
X().getY(),sx,
Sy,
drawtool.getW
idth(),
drawtool.getH
eight()):

AR

Line

Violated rule

Description

481

Local Variable Name

Name 'Image' must match pattern
'‘"a-z]la-zA-70-9]*$".

Relevant code Solution Modified code
Image e o5 4 image
Line Violated rule Description
492 Avoid commented-out This block of commented-out lines of

lines of code

code should be removed.

Relevant code Solution Modified code
//specialeffec

t.addlist(X, Y,

drawtool.getc AHA|

olor(), b,
state);
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Line

Violated rule

Description

521

Local Variable Name

Name 'Image' must match pattern
'‘“a-z]la-zA-Z0-9]*$".

Relevant code Solution Modified code
Image Ha 0|5 24 image
Line Violated rule Description
) i i Literal Strings should be compared
597 String Literal Equality

using equals(), not '==".

Relevant code

Solution

Modified code

if(state ==

equals()2 &%

if(state.equals("pencil"))

"pencil" )
Line Violated rule Description
) ) ) Literal Strings should be compared
602 String Literal Equality

using equals(), not '==".

Relevant code

Solution

Modified code

else if(state

== "line" || else if(state.equals("line") ||
equals()2 &% " "
state == state.equals("shape"))
"Shape")
Line Violated rule Description
) ) ) Literal Strings should be compared
606 String Literal Equality

using equals(), not '==".

Relevant code

Solution

Modified code

else if(state

"pickcolor")

equals() 2 &%

else if(state.equals("pickcolor"))

Line

Violated rule

Description

611

String Literal Equality

Literal Strings should be compared

using equals(), not '==".

Relevant code

Solution

Modified code

else if(state

equals()2 &%

else if(state.equals("shadow"))

== "shadow")
Line Violated rule Description
) ) ) Literal Strings should be compared
616 String Literal Equality

using equals(), not '==".

Relevant code

Solution

Modified code

else if(state

equals()2 &%

else if(state.equals("brush"))

== "brush")
Line Violated rule Description
622 If Else Stmts Must Use | Avoid using if...else statements without
Braces curly braces
Relevant code Solution Modified code
else ) else {
=7
t=false; bl t=false; }
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Line Violated rule Description
Simplify Boolean i . .
623 i Expression can be simplified.
Expression
Relevant code Solution Modified code
if(t==true) ==true AHA| if(t)
- SpecialEffect
Line Violated rule Description
. Avoid using implementation types like
25 Loose coupling , o . .
ArrayList'; use the interface instead
Relevant code Solution Modified code
private
ArrayList<Drawi not accept
ngObject> list
Line Violated rule Description
) Avoid using implementation types like
26 Loose coupling , o ) ]
ArrayList’; use the interface instead
Relevant code Solution Modified code
private
ArrayList<Draw not accept
Shape> listl
Line Violated rule Description
) Avoid using implementation types like
27 Loose coupling , e . i
ArrayList’; use the interface instead
Relevant code Solution Modified code
private
ArrayList<Draw not accept
Shape> list2
Line Violated rule Description
) ) The String literal "shape" appears 6
Avoid Duplicate . . L .
33 . times in this file; the first occurrence
Literals ) )
is on line 33
Relevant code Solution Modified code

state.equals("sh

JEIS e

ape’) 2x}edo] B2 not accept
Line Violated rule Description
) ) The String literal "line" appears 27
Avoid Duplicate . . L .
37 ) times in this file: the first occurrence
Literals . .
is on line 37
Relevant code Solution Modified code

DrawingObject(s
X,9y,sx+width,sy
,c,size,"line" flag

YEIS e

SXt¥o]lB & not accept
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Line

Violated rule

Description

If Else Stmts Must Use

Avoid using if..else statements without

68
Braces curly braces
Relevant code Solution Modified code
else
; lsef
list.add(new e
DrawingObject(s = list.add(new

X,8Y,€ex,ey,c,size
,state,flag));

DrawingObject(sx,sy,ex,ey,c,size,state,fla

g)}

Line

Violated rule

Description

89

Loose coupling

Avoid using implementation types like
'‘ArrayList': use the interface instead

Relevant code Solution Modified code
pub(lic void

setlist(ArrayList

<DrawShape> not accept
list)
Line Violated rule Description

. Aviod using implementation types like

92 Loose coupling

'‘ArrayList'; use the interface instead

Relevant code Solution Modified code
publi(c void
setlist2(ArrayLis
t<DrawShape> not accept
list)
Line Violated rule Description
] ) Cyclomatic Complexity is 21(max
95 Cyclomatic Complexity ]
allowed is 10)
Relevant code Solution Modified code
public
ArrayList<Draw | ofs s}ty mthslo] not
Shape>
excutedecal(int accept
X)
Line Violated rule Description
) Avoid using implementation types like
95 Loose coupling , o ) ]
ArrayList’; use the interface instead
Relevant code Solution Modified code
public
ArrayList<Draw
Shape> not accept
excutedecal(int
X)
Line Violated rule Description
The method excutedecal() has an NCSS
95 Ncss Method Count )
line count of 78
Relevant code Solution Modified code
public
ArrayList<Draw )
Shape> & 2ot
ei(cutedecal(int
X
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Line

Violated rule

Description
) ) The String literal "brush" appears 6
Avoid Duplicate ) ] o .
106 . times in this file; the first occurrence
Literals . .
is on line 106
Relevant code Solution Modified code
i.getstate().equa JEIE YEY =
Is("brush’) +AtEo]B & not accept
Line Violated rule Description
) ) The String literal "decal"appears 6
Avoid Duplicate ) ) o .
155 . times in this file; the first occurrence
Literals . .
is on line 155
Relevant code Solution

DrawLine(i.gets

Modified code

x(),i.getsy(),1.get
ex(),i.getey(),i.ge
tcolor(),i.getthic
kness(),"decal", .

el e

EAFGo]|B & not accept

Relevant code

getshadow()))
Line Violated rule Description
] ) The String literal "rectangle" appears 6
171 Avoid Duplicate

Literals

times in this file; the first occurrence

is on line 171

Solution

Modified code

i.getstate().equa
1s("rectangle")

JEIE e

SAtEo]l8 &2 not accept

Line

Violated rule

Description

177

Relevant code

Avoid commented-out

lines of code

This block of commented-out lines of

code should be removed

Solution Modified code
//double t1 =
i.getsx() - 2*x AFA|
-t
Line Violated rule Description
) ) The String literal "ellipse" appears 4
Avoid Duplicate ] i o ]
187 ) times in this file; the first occurrence
Literals . .
is on line 187
Relevant code Solution

i.getstate().equa

Modified code

1s("ellipse")

FAtFo]|8 g not accept

g eds

Line

Violated rule

Description

193

Relevant code

Avoid commented-out

lines of code

This block of commented-out lines of

code should be removed.

//double t1 =

Solution

Modified code

l.getsx() - 2#*x
-t

AR
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Line Violated rule Description
. ] Cyclomatic complexity is 22(max
208 Cyclomatic Complexity )
allowed is 10).
Relevant code Solution Modified code
ublic void o I
caLfDotLine(Dra F=stthal WS not
wingObject 1i,int t
thick) aceep
Line Violated rule Description
The metho calDotLine() has an NCSS
208 Ncss Method Count

line count of 74

Relevant code Solution Modified code
public V?id
calDotLine(Dra = =15}
wingObject 1i,int S s
thick)
Line Violated rule Description
o If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(i.ge(tstate().)e)q
uals("brush" cofe " "
listZ..add(new ) 1f(1.getsteﬁg{)z..ea%%a(lfe(vb)rush N
DrawLine(tx,ty,t U571 DrawLine(tx,ty,tx+1,ty+1,i.getcolor(),i.gett

x+1,ty+1,i.getcol
or(),i.getthick(),"

hick(),"shadow"));}

shadow"));
Line Violated rule Description
) ) The String literal "shadow" appears 24
Avoid Duplicate . . L .
224 . times in this file; the first occurrence
Literals ) ]
is on line 224
Relevant code Solution Modified code

DrawLine(tx,ty,t
x+1,ty+1,i.getcol
or().i.getthick(),"

HElE et

EAtGo]|8 & not accept

shadow")
Line Violated rule Description
226 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
list2.add(new else{
DrawLine(tx,ty,t ES)! list2.add(new
ha DrawLine(tx, ty,tx+1,ty+1,i.getcolor(),1,"sh

x+1,ty+1,i.getcol

or(),1,"shadow")) adow"));}
Line Violated rule Description
930 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(i.getstate().eq {7} if(i.getstate().equals("brush")
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uals("brush"))

list2.add(new
DrawLine(tx,ty,t
x+1,ty+1,i.getcol

list2.add(new
DrawLine(tx,ty,tx+1,ty+1,i.getcolor(),i.gett

or(),i.getthick())) hick())):}
Line Violated rule Description
939 If Else Stmts Must Use | Avoid using if..else statements without

Braces curly braces
Relevant code Solution Modified code
else
list2.add(new i else{
DrawLine(tx,ty,t {7} list2.add(new

x+1,ty+1,i.getcol

DrawLine(tx,ty,tx+1,ty+1,i.getcolor(),1)):}

or(),1));
Line Violated rule Description
246 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces

Relevant code Solution Modified code
if(i.get”state()l.'eq
ﬁasl’lz(;)éﬂclil(?lhegv) if(i.getstate().equals("brush”)}{
DrawLine(tx,ty,t == list2.add(new

x+1,ty+1,i.getcol
or(),i.getthick(),"

DrawLine(tx,ty,tx+1,ty+1,i.getcolor(),i.gett
hick(),"shadow"));}

shadow")):
Line Violated rule Description
248 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces

Relevant code Solution Modified code
else

list2.add(new else{

DrawLine(tx,ty,t ES)! list2.add(new

T

x+1,ty+1,i.getcol

DrawLine(tx, ty,tx+1,ty+1,i.getcolor(),1,"sh

or(),1,"shadow")) adow"));}
Line Violated rule Description
957 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(i.ge(tstate().;e)q
uals("brush" s " "
list2.add(new ] 1f(1.getstaﬁgé)z.%%%z?fév\tr)rush N
DrawLine(tx, ty,t {+=7F :

x+1,ty+1,i.getcol

DrawLine(tx,ty,tx+1,ty+1,i.getcolor(),i.gett

or().i.getthick())) hick())):}
Line Violated rule Description
- If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
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else
list2.add(new
DrawLine(tx,ty,t
x+1,ty+1,i.getcol
or(),1));

457t

elsef
list2.add(new
DrawLine(tx,ty,tx+1,ty+1,i.getcolor(),1)):}

Line

Violated rule

Description

266

For Loops Must Use

Avoid using if..else statements without

Braces curly braces
Relevant code Solution Modified code
for(int ch =
0:ch<i.getcurre ES)! for(int ch =
nsize()-1:ch++) B 0:ch<i.getcurrensize()-1;ch++) { ... }
Line Violated rule Description
088 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
_ . = elsef
t = k/l((g})nck + {17t t = k/(thick + 10)}
Line Violated rule Description
) Avoid using implementation types like
307 Loose coupling , o i .
ArraylList’; use the interface instead
Relevant code Solution Modified code
public
ArrayList<Draw
Shape> not accept
excuteDottedLin
e()
Line Violated rule Description
331 Cyclomatic Complexity Cyclomatic Complexity is 38
Relevant code Solution Modified code
public 55 code
Arrag}%;spt;? raw 7FA 36t refactoring
excuteshadow() &
Line Violated rule Description
) Avoid using implementation types like
331 Loose coupling , o ) i
ArrayList’; use the interface instead
Relevant code Solution Modified code
public
Arrag}%;sg[gl) raw not accept
excuteshadow()
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Line

Violated rule

Description

331

Ncss Method Count

The method excuteshadow() has an
NCS line count of 132

Relevant code Solution Modified code
public
ArrayList<Draw 2915
Shape> 2|<—}ﬂ| —r7]' =g
excuteshadow()
- FilelO
Line Violated rule Description
o . Variable 'imgs' must be private and
25 Visibility Modifier

have accessor methods.

Relevant code

Solution

Modified code

public Image

AFg5HA] eoba] At

imgs
Line Violated rule Description
o . Variable 'buf' must be private and
26 Visibility Modifier
have accessor methods.
Relevant code Solution Modified code
public
Bufferedimage privateo 2 7% private Bufferedlmage buf
buf
Line Violated rule Description
36 Avoid commented-out This block of commented-out lines of
lines of code code should be removed.
Relevant code Solution Modified code
//Rectangle
imageRec =
new
Rectangle(x+8, AR

y+90,drawtool.
getWidth(),dra

wtool.getHeig
ht())
Line Violated rule Description
45 Avoid Print Stack Avoid printStackTrace(); use a logger
Trace call instead
Relevant code Solution Modified code
e.printStackTr A& € codeZ not
ace() accept
Line Violated rule Description
5g Avoid commented-out This block of commented-out lines of

lines of code

code should be removed.

Relevant code

Solution

Modified code

//File

AR
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saveFile =
new File(file);

Line Violated rule Description
65 Avoid Print Stack Avoid printStackTrace(); use a logger
Trace call instead
Relevant code Solution Modified code
e.printStackTr | A& 7@€ code& not
ace() accept
Line Violated rule Description
68 If Stmts Must Use Avoid using if statements without curly
Braces braces
Relevant code Solution Modified code
if(dir == null
|| file == null) &7} if(dir == null || file == null) {return;}
return;
Line Violated rule Description
) Name 'SAFILE' must match pattern
71 Local Variable Name

'“a-z][a-zA-Z0-9]*$'

Relevant code

Solution

Modified code

SAFILE H o] & L4 saFile
Line Violated rule Description
Simplify Boolean ) . e
83 ) Expression can be simplified
Expression
Relevant code Solution Modified code
if((name.toLo
werCase().end i T
o ==true AHA| if((name.toLowerCase().endsWith(".jpg"))
sWith(".jpg")==
true)
Line Violated rule Description
Simplify Boolean . . .
84 ) Expression can be simplified
Expression
Relevant code Solution Modified code
if((name.toLo
werCase().end ) i
o ==true AMA| if(name.toLowerCase().endsWith(".gif"))
sWith(".gif")==
true))
Line Violated rule Description
a5 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
if(...) isaccpet ) if(...)
{171

= true;

{isaccpet = true;}
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Line Violated rule Description
87 If Else Stmts Must Use | Avoid using if...else statements without
Braces curly braces
Relevant code Solution Modified code
else |
. else
isaccpet = ==y .
{isaccpet = false:}
false;
Line Violated rule Description
) Avoid using implementation types like
94 Loose coupling

'ArrayList'. use the interface instead

Relevant code Solution Modified code
ArrayList<Dra
. not accept
wShape> list
Line Violated rule Description
102 If Stmts Must Use Avoid using if statements without curly
Braces braces
Relevant code Solution Modified code
if(directory ==
null || . .
] N if(directory == null || filename ==null)
filename {37
{ return; }
==null)
return;
Line Violated rule Description
Simplify Boolean . ) o
105 i Expression can be simplified
Expression
Relevant code Solution Modified code
if(ok == true) ==true AHA| if(ok)
Line Violated rule Description
) Assignment of parameter 'list' is not
112 Parameter Assignment
allowed.
Relevant code Solution Modified code
list = new
. oAl 9F 7182 not
ArrayList<Dra
accept
wShape>()
Line Violated rule Description
120 Avoid Print Stack Avoid printStackTrace(); use a logger

Trace call instead
Relevant code Solution Modified code
e.printStackTr AtE 7H code® not
ace() accept
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Line Violated rule Description
194 If Else Stmts Must Use | Avoid using if..else statements without
Braces curly braces
Relevant code Solution Modified code
else
JOptionPane.s e else
howMessageDi o {JOptionPane.showMessageDialog(...)}
alog(...)
- DrawingObject
Line Violated rule Description
) . Avoid unused private fields such as
21 Unused Private Field ‘ ‘
brushShape'.
Relevant code Solution Modified code
private String AFRSFA] OToFA] AMA
brushShape
Line Violated rule Description
. . Avoid unused private fields such as
22 Unused Private Field . ,
figureShape'.
Relevant code Solution Modified code
private String AFRFA] OFoFA] AMA
figureShape
Line Violated rule Description
10 Constructor Calls Overridable method 'getsize' called
Overridable Method during object construction
Relevant code Solution Modified code
public int
getsize(double final2 £% public final int getsize(double[] x)
[l x)
- SpecialEffectTest

Unit TestE st resourceo] B 2 not accept
1.2.2. &8 I E refactoring

Treemap Report, Cloud Reporto]] thst tf-&ofAe} opr7HA| & if-elsel} switch#O 2

WHAA FH-HE 0] = Bvs stU= XA refactoring sHAT.

_34_



1.2.3. &4 Z7}

while(true){ [ leisn o See 52 2=]
if(color == c.getRGB()) {
break;
I
if(!list.isEmpty()){ //==== b IS
if(list.get(@).getsx() >8 8& llst get(®).getsy() > @ &% list.get(@).petsxk() ¢ width-1 K& list.get(8).getsy
1
double k = list.get(®).getsx();
double 1 = list.get(@).getsy();
if(outImage.getRGB((int)k+1l, (int)}l) == color}{
list.add(new temp(k+i.@, 1});
outImage.setRGB( (int)k+1l, (int)l, c.getRGB())};
1
if(outImage.getRGB((int)k-1, (int}1l) == color}{
list.add(new temp(k-1.@, 1)};
outImage.setRGB( (int)k-1, (int)l, c.getRGB());
if{outImage.getRGE((int)k, (int)l+l) == coler){
list.add(new temp(k, 1+1.8)};
outImage.setRGB( (int)k, (int)l+l, c.getRGE())};
if(outImage.getRGE((int)k, (int)l-1) == color){
list.add(new temp(k, 1-1.8)};
outImage.setRGB( (int)k, (int)l-1, c.getRGB());
b
i

list.remove(@);

—i—

AT LS. EELkW} gtbegJ A9 Gt LISLLEELLY) L BELSYL) 2 W0 i LISLLBEELLE) . BELSKL ] & WLULIN-L && 115

{//fzags s
double k= llst get(@) getsx(),
”: ; L =z Om
e =20 -

if{outImage.getRGE((int}k+l, (int}l) == color}{
list.add{new temp{k+1.8, 1));
outImage.setRGB((int)k+l, (int)l, c.getRGB(

¥

if{outImage.getRGE((int)k-1,(int)1l) == color){
list.add(new temp(k-1.2, 1});:
outImage.setRGB((int)k-1, (int)l, c.getRGE());

¥

if(outImage.getRGEB((int)k, (int)l+l) == color){
list.add({new temp(k, 1+1.8));
outImage.setRGE((int)k, (int)l+l, c.getRGB());

¥

if(outImage.getRGB((int)k, (int)l-1) == color){
list.add(new temp(k, 1-1.8});
outImage.setRGB((int)k, (int)l-1, c.getRGB());

¥

list.remove(@); 2T W= aslE 0E)
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TNLS.300L1ST(1.EETSX| J+KX]| 3|, 1. GETSY( J+KY| 3], 1. EETSXK] J+1.ETeX| ), 1. BEeTSY( J+1. geTey(), Temp, I1.geTT

else if(i.getthickness() == 28){
list2.add(new DrawRectangle(i.getsx()+kx[4],1.getsy()+ky[4],1i.getex(),i.getey(),temp,i.getthickness(
this.addlist(i.getsx()+kx[4],1i.getsy()+tky[4],1.getsx()+i.getex(),i.getsy()4i.getey(), temp, i.gett
b
¥
else if{i.getshadow() == @ && i.getcoler() != Color.white && i.getstate().equals("ellipse”)) {
if(i.getthickness()== 1){
list2,add(new DrawEllipse(i.getsx()+ kx[@],1i.getsy()+ky[@],1i.getex(),i.getey(),temp,i.getthickness()
else if(i.getthickness() == 5){
1ist2.add(new DrawEllipse(i.getsx()+kx[1],1i.getsy()+ky[1],1i.getex(),1i.getey(),temp,i.getthickness(),
else if(i.getthickness() == 18}{
list2.add(new DrawEllipse(i.getsx()+kx[2],1i.getsy()+ky[2],i.getex(),1i.getey(),temp,i.getthickness(),
else if(i.getthickness() == 15){
1list2.add(new DrawEllipse(i.getsx()+kx[3],1.getsy()+ky[3],1.getex(),1i.getey(),temp,i.getthickness(),
else if(i.getthickness() == 2@){
list2.add(new DrawEllipse(i.getsx()+kx[4],1i.getsy()+ky[4],1i.getex(),1i.getey(),temp,i.getthickness(),

1

}
tor({DrawShape 1i: Ilstl){ fiag =
if(i.getshadow() = ) £

if(i,getstate() equals("line")}{
1list2.add(new Drawline(i.getsx(},i.getsy(),i.getex(),1i.getey(),i.getcolor(),1i.getthickness()));

else if(i.getstate().equals("rectangle™}){
list2.add(new DrawRectangle(i.getsx(),i.getsy(),i.getex(),i.getey(),1i.getcolor(),i.getthickness()});

——

for(Drawshape i:1list1){ //2%% 22 statessS -Henim
int tempplusx = kx[i.getthickness(}/5];
int tempplusy = ky[i.getthickness()/5];
if(i.getshadow() == false && i.getcolor() != Color.white && i.getstate().equals("line™)) {
115t2 add(new Dr‘awi.lne(l getsx( )+ tempplusx,i.getsy()+tempplusy,i.getex()+tempplusx,i.ge
ailesleledimiuinefodh tempplusx, i.getsy()+tempplusy,i.getex()+tempplusx,i.getey()+temp

1

else if(i.getshadow() == false &% i.getcolor() != Color.white &% i.getstate().equals("rectar
list2.add(new Dr‘awRectangle(l getsx(j+ tempplusx,i.getsy()+tempplusy,i. getex() i.get

o= T TR

tsx()+ tempplusx,i.getsy()+tempplusy,i.getsx()+i.getex(),i.getsy(H

. == false 8% i.getcolor() != Color.white && i.getstate().equals("ellip:
llstz add(new DrawEllipse(i.getsx()+ tempplusx,i. getsy()+‘tempplu5y,1 getex(),i.getey
15)((:& tempplusx,i.getsy()+tempplusy,i.getex(),i.getey(), temp, 1

L A

iff':; DEFEEN =T

¥

for(Drawshape i:list1){ //s=31=

getshadw() =

LI _= =

1. getstate() equals( Ilne SH

list2.add(new Drawline(i.getsx(),i.getsy(),i.getex(),i.getey(),i.getcolor(},1i.getthi

else if(i.getstate().equals("rectangle”)){
list2.add(new DrawRectangle(i.getsx(),i.getsy(),i.getex(),i.getey(),i.getcolor(),i.¢

else if(i.getstate().equals("ellipse™)){
list2.add(new DrawEllipse(i.getsx(),i.getsy(),i.getex(),i.getey(),i.getcolor(),i.get

ot
1
L
m
\
i
|
i
1]
fut

9o T 2ol coded] YEL 27| HES £

tlo
i
N
=~
ol
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4]
iu)
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1.2.4. Magic Number?] A& A}A|

int []kx;

int [ky;

kx = new int[5];

ky = new int[5];

Color temp = new Color(21@,218,218);

if(lightxy == 1} {
kx[®8] = 3; kx[1] = 7; kx[2] = 11; kx[3] = 15; kx[4] = 19;
ky[e] = 3; ky[1] = 7; ky[2] = 11; ky[3] = 15; ky[4] = 19;
¥

else if(lightxy == 2) {

kx[®] = -3; kx[1] -7; kx[2] = -11; kx[3] = -15; kx[4] =
ky[8] = 3; ky[1] = 7; ky[2] = 11; ky[3] = 15; ky[4] = 19;
1
else if(lightxy == 3)
kx[@] = 3; kx[1] = 75 kx[2] = 11; kx[3] = 15; kx[4] = 19;
ky[@] = -3; ky[l] = -7; ky[2] = -11; ky[3] = -15; ky[4] = -19;
¥
else if(lightxy == 4) {
kx[@] = -3; kx[1] = -7; kx[2] = -11; kx[3] = -15; kx[4] =
ky[e] = -3; ky[1] = -7; ky[2] = -11; ky[3] = -15; ky[4] = -19;
3
int [Jkx = {3,7,11,15,19};
int [lky = {3,7,11,15,19};// /22 *zu o5 Tk =

.

Color temp = new Color(219,216,216); //2Lzc=

/{2 ®IM DBK I8 23 4= 28

if{lightxy == 2) {

for({int i =8;i<5;iH+) {
kx[i] = -kx[i];

¥

1

else if(lightxy == 3) {
for(int i = @;1<5;i++) {

ky[1] = -ky[i];

1
else if(lightxy == 4) {
for{int i = @;i<5;i++){
kx[i] = -kx[1];
ky[i] = -ky[i];
}

1o 23t Zo] Magic Number?] ARE-Z Ftjgtoz &)
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ject Run  Window Help

& = [F Fvp .
1% package Explorer =% B % ¥ 7 O|& prawooljava 12 /] DrawingObjectjava ) &) Drawellipsejava | &) Drawinejava ] DrawRectangle java i 4] Drawshape java & FilelOjava " m =T
B s i’ okt windospesc uate indonevent: rge) { "2
= Hello }
12 Thave
. o Ka override
1= KonkukProxy public woid windewDeiconified(UindowEvent arge) {
1 LinkedList
= Merge 3
4 iz modiing poverride
G2 sic public void windowIconified{WindowEvent arge) § "
=) IRE System Library [1avasE17
=4 JUnit 4 15 S
& reports it <
z :ﬁﬁipg 7 Violations werview £ BB CPD View| B consale s|FEEGEE e~ =0
12! Msgclient [~ Hement # wiolations | #Violstions/LOC  # Violations/ Project -
5= MvC 4 3 (default package) 60 231 /1000 036 modling ‘
&1 NetPacman 3] DrawEllipsejava 1 12.8 /1000 007 rmodling
s Objecthiet = 4] DrawingObject java 1 104 /1000 005 rmodiing
St = = © [1] DrawLinejava 1 12.7 /1000 007 modling
£ Violations Outline 2 L 3] DrawRectanglejava 1 12.2 /1000 007 moding g
Error Message 4] DrawShapejava pé 833 /1000 009 rnodling
+ This class has too many methods, cansider refac] 1] BrawTool java ) 172/ 1000 059 modling
0 This diss has  bunch of public methads and at 4 [J] FileOjava 2 21.3 /1000 040 modling
4 The method tempaddlist has » Cyclomistic ComE| b EmpCatchblock i 106 /71,000 028 miodling
W Themethod 'spBrush2Cal' has a Cyclomatic Cun. o) :‘ﬂrgnﬁj;kage 1 ;ggﬁggg gig zzj:::g
 The method :spBrusthal‘ has a Cyclomatic Corr | o [ ke = g o mcding
A The method ‘addlist’ has a Cyclomatic Complexi ~/ ShortwethodNiame ¢ e 9% moding
! The class 'DrawTool' has a Cyclomatic Complexit ! TooManyMethods 1 1871000 003 rmodling
# Avoid really long methods. ! TooManyFields 1 1.8 /1000 003 moding
! Awid really long methods. o Longvariable 1 18 /1000 003 rmodling
o Aveid really long dasses - A CydomaticComplesty 2 3571000 007 rodling
L B m - v # NoPackage 1 1.8 /1000 002 mudhng_ -~
[J] DrawTool java 17 17.3 /1000 059 rnodling
4 [ReEilslo i 2 21.3 71000 040 madling
 EmptyCatchBlock 1 106 /1000 020 modling
#< MoPackage 1 106 /1000 020 medling
[ FilelDjava 2 21.3 /1000 040 modling
a [§ Screenjava 15 26.3 f 1000 0.50 rmadling
» ShortMethodMarne 1 1.8 /1000 003 meodling
= TooManyMethods 1 1.8 /1000 003 modling
» TooManyFields 1 1.8 41000 0.03 medling
o Longwariable 1 1.8 #1000 0.03 modling
A CyclomaticCornplexity 2 3.5 /1000 0.07 rmadling
# MoFackage 1 1.8 /1000 003 maodling
i = 0 = o = o
§j7]1A] ol5& ARSI &UAY ¥ CatchBlock AE, &2 HlAE o]F AME, UE T2
Has ARG, UF B2 ¥ ARSI ¥4 olF AR, &2 Cyclomatic Complexity 5©]
=] =]
A2 FAE A
o
2.2. <
# File Line Problem Solution
. . she] mf7|R| 2 LAdSHA T2
src/DrawElli All classes and interfaces must Hj?j Jﬂ J ! oi}% E, 1o
1 . 4 o= 7AJSHA] AY¥CeT= not
pse.java belong to a named package
accept
. . shrel m7lAlE FAHSA T
o src/DrawLin 4 |All classes and interfaces must oj22 Rslx] oi;% o2 ot
e.java belong to a named package 0= 0 BT
accept
. ° L}QJ {7 ] A= Al & =
3 src/DrawRe 5 All classes and interfaces must O}Eg ]ﬂ 8}7\]] oiﬁ’) EI ; mrnot
ctangle.java belong to a named package acge;[ © Il
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strel mrle 2ehA the

4 src/DrawSh 4 All classes and interfaces must o]22 AMslx] orOlomE not
ape.java belong to a named package
accept
5 src/DrawTo | This class has a bunch of|publicez A5t HATF T A
ol.java public methods and attributes |Q)o]A] privatez2 7%
shtel 7] x X3l A
src/DrawTo All classes and interfaces must Hj_j HHZ] 1= F7delA e
6 . 40 0|22 AKX U9rot 2 not
ol.java belong to a named package
accept
7t A 35ts i bS]
7 srg/DrawTo 40 |[Avoid really long classes. COdE T etsted 300 lines 7
ol.java = =4
The class 'DrawTool' has a|. oo S sl
8 (s)ll“ca/ \E)arawTo 40 |Cyclomatic Complexity of 9 ?el?a ic;”in c;de (taefotel
. (Highest = 46). &5
9 src/DrawTo 40 This «class has too many|=Z Q3% method AMA|5HA
ol.java methods, consider refactoring it.|refactoring ¢
\ . code ZAE 3 C(Cyclomatic
10 STQ/DrawTo 90 "éhelmet?odctemlia(i?llstf hlzés a Complexity?} HA]slctn mh
ol.java yclomatic Complexity o - |5to] 2Aota] orore
1 src/DrawTo 120 The method 'spBrush2Cal' has a|£E& = code A3}t
ol.java Cyclomatic Complexity of 46. |refactoring &t
19 src/DrawTo 219 The method 'spBrushlCal' has a|5&25% code t43ststo
ol.java Cyclomatic Complexity of 46. |refactoring 3t
src¢/DrawTo The method ‘'addlist' has a code HE 2 Cyclomatic
13 L 317 Cval tic C loxity of 27 Complexity?} AAschn ook
ol.java yclomatic Complexity o - |5t} 2Aota] orore
src/DrawTo . Ul 3= codezA  ZAojA
14 oljava 384 |Avoid really long methods. 2uro] 97 £]0] not accept
src¢/DrawTo . UI2A5t=  codezA ZojA
15 oljava 732 |Avoid really long methods. 2ol 917 o] not accept
shtol o7& A8l A
src/DrawTo All classes and interfaces must O}L‘jfj HHZ] I= }:TL g e
16 X 896 o] 28 ASIA] UYOoT 2 not
ol.java belong to a named package
accept
17 iﬁ; \?arawTo 926 ﬁ:;?cﬁ ar;sofsntlatmg new objects = Q5F codeo] B2 not accept
1g | Sr/DrawTo g Avoid instantiating new obiects/ g g &1 cogeo]o 2. not accept
19 (s)ll”(];a/\]?arawTo 944 ﬁl\;?(lji Er;ztssntlatlng new objects W35t codeo] B2 not accept
20 |31C/PrawTo| g |Avoid instantiating new obiects|g g o codeo)o 2 not accept
21 |31/PrawTo| gg, |Avoid instantiating new obiects|y o g codeo]o 2 not accept
shute] 7|k X 8] &
src/Drawing All classes and interfaces must o}jﬁj HH;] 1= }:TL ol A me
22 . . 18 o] 28 ASIA] Uro T2 not
Object.java belong to a named package
accept
shtol 7| & A8 A
src/FilelO.ja All classes and interfaces must O}L‘jﬁ ”HZ] = }:TL ol =
23 24 olF& 7stA] AfeB=Z not
va belong to a named package
accept
src/FilelO.ja . . .
24 73 |Avoid empty catch blocks interface implementsA] A=

va
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TFel®l FEo]B g not accept

src/Screen.j

This class has a bunch of

publico 2 Molst W2t tia

e JT
25 ava 15 public methods and attributes |Q)o]A] privatez2 7%
. . stol mrlx e 2AaA T
26 src/Screen.j 39 All classes and interfaces must ol22 Asix| orolome pot
ava belong to a named package
accept
. The «class 'Screen’ has a|x. 21 A BLE
= r A
27 Z:](;/Screen.] 39 |Cyclomatic Complexity of 3 ?ef_‘act(‘)}in c;de (taefotol
(Highest = 16). &%
src/Screen.j This class has too many|ESZ8% method AA|stH
28 39 . e .
ava methods, consider refactoring it.|refactoring &t
src/Screen.j . AFESHA] 9t W4 ATA|sHY
29 ava 39 |Too many fields Aostoz zol
src/Screen. | The field name indicates a
30| 7147 |constant but its modifiers do 2 o]2 2%
not
src/Screen. j The field name indicates a
31 ava | 48 |constant but its modifiers do HA 0] E A
not
Variables that are not final
src/Screen.j should not contain underscores
HA o]l2 AK
32 ava 55 (except for wunderscores in dg ols 274
standard prefix/suffix).
src/Screen.j Variables should start with a A ole AX
33 ava 59 lowercase character e ols 78
src/Screen.j . Ul2Adst=  codezZA ZojA
34 ava 74 |Avoid really long methods. 2uro] 97 £]0] not accept
: G e code HAE $ Cyclomatic
35 src/Screen.j 74 "Cl;he1 me’ihocé 1n1’{1a1}tze fh?(s3 a Complexity?} A&slChm mhcy
ava yclomatic Complexity o © |oto] 2xa1x] orore
UPgolA BES Z7tel7] 9ia]
36 src/Screen.j 74 The method initialize() has an|8+< 7l's= ot codegs &%
ava NCSS line count of 109 AtREtgong RS x| o
o}A] not accept
src/Screen.j Avoid excessively long variable| . 12 Ax
37 ava 217 names like selectLineThickness A olF 24
38 ZI:;;/ Screen. | 399 |Do not add empty strings empty string AHA|
src/Screen.j Avoid using short method|. o [ AF
39 ava 525 names 5l method 2T 3t AMF|
. , shuro] mi7| < e
src/Special All classes and interfaces must o}j_j HHJ 12 7oA me
40 - 19 0|22 ABIA] UYrou @ not
Effect.java belong to a named package
accept
. The class 'SpecialEffect’ has a| .y oo 1A BLE
41 Elf"fce/c f?;f;al 19 |Cyclomatic Complexity of 10|° 77", code  IAsfstol
) (Highest = 38). & =
49 src/Special 31 The method ‘'addlist' has a|&EEE code 743}
Effect.java Cyclomatic Complexity of 10. |refactoring &t
43 |src/Special| 95 |Avoid really long methods. AAISH ATEES YHYst codez
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JEIRT A2 3 =0l A o}
Effect.java Ojghne 22 37 2¢ &> ¢
P =]
. ) | code ZE & Cyclomatic
44 Elf“fc/fpemal 95 "(l;helmet};.odcexc%teqtecalf };S a Complexity?} A&slcta mhcy
ect.java yclomatic Complexity o - |afo] 2~} otore
45 src/Special 95 The method excutedecal() has 1\47:110} AHS 819 st codeR
Effect.java an NPath complexity of 220 Al 2™ 4 glole

src/Special

Avoid instantiating new objects

a Q 5t =
%6 IEttectjava | 108 |inside loops 283 codeo] 2.2 not accept
47 src/Spemal 109 Aqu instantiating new objects 05t codeo] B2 not accept
Effect.java inside loops
48 src/Spec1al 110 Avgld instantiating new objects 295 codeo] D2 not accept
Effect.java inside loops
49 src/Spemal 111 |Avoid instantiating new objects 295t codeo] B2 not accept
Effect.java inside loops
50 src/Spemal 128 Avgld instantiating new objects 295 coded] T2 not accept
Effect.java inside loops
51 src/Special 208 The method 'calDotLine' has a|5&2E%E code IF43ststo
Effect.java Cyclomatic Complexity of 22. |refactoring &t
. 7\']71]3]- /\]-EPQ U5t codeR
src/Special . == o= _“°r
X A2 g ol A o
52 Effect java 331 |Avoid really long methods. Ojghne L5 FA 249 & ¢
53 src/Special 331 The method 'excuteshadow' has|£EEE= code ZIA3}sHA
Effect.java a Cyclomatic Complexity of 38.|refactoring &t
src/Special The method excuteshadow()| . 5 o151
o4 Effect.java 331 has an NCSS line count of 132| " ™' 71
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